TRICERATOPS
QUESTION SHEET

1. What type of diet did the Triceratops have?
2. How many horns did the Triceratops have?
3. What was the frill at the back of a Triceratops’s head used for?
4. How big could the Triceratops grow?
5. How much did a Triceratops weigh?
6. What kind of food did the Triceratops eat?

7. Where did the Triceratops live?

8. How did the Triceratops defend itself against predators?
9. What event caused the Triceratops to go extinct?

10. What is one fun fact about the Triceratops?

Answers
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TRICERATOPS
ANSWER SHEET

1. The Triceratops was a herbivore, meaning it ate plants.
2. The Triceratops had three sharp horns.

3. The frill may have been used for protection, attracting mates, or
communication.

4. The Triceratops was about 8 meters long and 3 meters tall, as
long as a bus and as tall as a giraffe.

5. It weighed up to 12 tons, about the same as 12 stacked cars!

6. The Triceratops ate plants like ferns and shrubs, using its beak
and tough teeth to chew them.

7. It lived in North America around 68 million years ago, in forests
and open fields.

8. The Triceratops used its strong horns and frill to scare off or fight
predators like the T. Rex.

9. A massive asteroid hit the Earth, causing climate changes and
leading to the extinction of dinosaurs.

10. The Triceratops was a social dinosaur and may have used its
frill's colors to communicate!
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